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e Please check that this question paper contains 12 printed pages.

e (Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 27 questions.
e Please write down the Serial Number of the question before attempting it.

e |5 minute time has been allotted to read this question paper. The question paper will be
distributed at 10:15 a.m. From 10.15 am. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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Wﬁ%ﬂ:

(i)

G} 97 37T & |

(ii) Y¥T-G&IT 1-5 TP Y J97 Uh 3 &7 & | 37 J571 &1 I I 20 Jreg] & 319

781 &7 =T8T |

(iii) F¥T-GEIT 610 TH T J97 & 37H] HT & | 57 J371 HT i I 40 Je] & 3778

787 8147 =150 /

(iv) FoT-G&IT 11-16 T I9% J97 TR bl 7 8 | 37 J971 &7 b I 100 31sg] &

3717 787 5147 FET |

v) F-GEIT17 G 21 TF I 9% F97 Gid 371 BT & | 37 I3 H F%b I/ 150 3] G

371 781 8147 FMET |

(vi) FIT-GEIT21 THIET T IHTHIRT F97 & | 3GHT It/ HGH1 It~ JI&ia] 171U |
(vii) FIT-GEIT22 G 27 % T 37 &: bl BT & | 37 J¥71 &1 Jd% I 150 1] G

371 781 8147 FMET |

General Instructions :

59/1

(i) All questions are compulsory.

(i)

(iii)

(iv)

(V)

(Vi)

(vii)

Questions number 1 — 5 are of one mark each. The answers to these questions

shouldnot exceed 20 words each.

Questions number 6 — 10 are of two marks each. The answers to these questions

should not exceed 40 words each.

Questions number 11 — 16 are of four marks each. The answers to these questions

should not exceed 100 words each.

Questions number 17 — 21 are of five marks each. The answers to these questions

should not exceed 150 words each.

Question number 21 is a map-based question. Write its answers in your answer-

book.

Questions number 22 — 27 are of six marks each. The answers to these questions

should not exceed 150 words each.
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1. 37 g o SH, ST TR o sfter SgledT ohT T&T ST ST T 7 1

What was the main reason for the rivalry between the two super-powers during Cold
War ?

2. ARG AT P AT FA ATA TR I H IR T T & ? 1
(a) 39 GIadd 9 ohl HHSN ol ISTFR TehAT |
(b) 3E- G UsA LRI TH 374 <01 hl I ST o sd T 3T i IATR
TeRaT |
(c) 3 Thoid hl TAT eh ITTekd ohl IATR TehAT |

(d) 3EA I 3cdTCeh <3 | Wehdl Uel < |

Which one of the following statements 1s TRUE about the First Gulf War ?

(a) It revealed the weakness of the USSR.

(b) It revealed the technological gap between the US mulitary capability and that of
the other States.

(c) Itrevealed the strength of Kuwait military.

(d) It united the o1l producing countries.

3. TUEl 9E <hT 3 TR FRINT | 1

Explain the meaning of ‘Privy Purse’.

4. 3 I AT, i Tear- freeh! G off foh 319+ UTepldes TETUHT X T TSR
[ERELEIN 1
Identity the popular movement which demanded the control of local communities

over their natural resources.

5. 3AYeh o= H AL o NI shl G HHET -1 2t ? 1

In your opinion, which was the main problem of the North-East people ?

6.  Tiferrd YurTet] shi Toheai el TeRIvdIa3Tl &1 Socid shifau | 2x1=2

State any two features of the Soviet System.

7. A1l g o™ | S99 o fold i & F3a G | 2x1=2
Suggest any two methods to save the forests from rapid degradation.
59/1 3 [P.T.O.
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R.  AYAIhIUT A Tavd TSI ol Tohel Toh R J&F &Y & THTTard Tl ? 2

How has globalisation affected the world politics 1n a major way ?

9. YN g -SSR TuT & THA H 331U U feheal &l sheHl shl SR hiloTu | Ix1=2

Highlight any two steps taken by India to support the decolonisation process.

10. Tt ‘A’ o 3Tad € T8 iR /iRl 1, e B’ % 3iaiid fou MU ueHifaes gl |

1
g&l THeA™ shifoTu | 4x= =2

2
T - A gt - B
(a) SO AT A H fedeh Mg i degETfgan | (i) 9 S
(b) $EH Tsh <, Uh HEhid 3R Teh UL b A=A W (i) &Iax urdl

SR & |

(c) FE U Hhgipd TRISH, USRI (iii) WA TSR i
HTelSTieh &3 o foeg off |

(d) 3O Weh WHINGh 3R [OORERIcHS 389 o (iv) HEIHE qIel 3A1h gl
®Y H 1 fohdT |

Match correctly the policies/programmes given in List A with the political parties
given 1 List.B :
List— A List— B
(a) It encouraged wviolent uprisings in (1) Bhartiya Jana Sangh

Telangana region.

(b) It emphasized the 1idea of one country, (1) Swatantra Party

one culture and one nation.

(c) It was critical of centralised planning, (i11) Indian National Congress

nationalisation and the public sector.

(d) It worked as a social and 1deological (1v) The Communist Party of India

coalition.
1. QETTd dTehd o €9 H TEeh! a&d hl SATEAT hiWT | 4
Explain the US Hegemony as a structural power.
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2. G TS % TG ¢ o €9 U YA o1 T TS L& IHue bl TR T¢Il & folu
qSied g & | Tohegil Gl SUYeRT el oh TR T 39 A ol FHYF hHITT | 2x2=4

India, as a member nation of the U.N. has a strong claim on the permanent
membership of the UN Security Council. Support this claim on the basis of any two

suitable arguments.

13. 1947 H U YR TI9TeH o fehral IR TRUMHET Bl UM hiTT | 4x1=4

Describe any four consequences of the Partition of India in 1947.

14, WA W 1962 % = g fohU 7T STT5RAYT < Feheel S1 7@ TIOTH <l HodTehd hifT | 2 x 2 = 4

Evaluate any two major consequences of the Chinese imnvasion on India in 1962.

15. 1979 & 1985 dh h 3THH eI <hl STEL AT b foog 3ATeiad o ®9 H =01 JHST STdT
2 ? TI5¢ ShiTaT | 4

Why 1s the Assam Movement (1979 to 1985) considered as a movement against the

outsiders ? Explain.

16. 1989 | <hg H TSEYH shl TLHN o YT hl AR o S 11 Tobral IR FGA™l hl FUM
ﬁﬁﬂ{l 4x1=4

Describe any four developments that led to an era of coalition governments at the

Centre since 1989:

17. i T U HAGaT sl LAY TIGT qgT HEfeTRad T9-1 o I GINIT ; 1+2+2=5

YR 4 GraTe] 18 geob Ol <11 o 1Y 3= qaY Y 6T 7 olichd YR o daY

& o 1Y T ST TR & | YR 1 feremn i o1 v maaqul Uge] YA &1 €4 & A1

Y 8 | YRA-&F 9adi 1 3iqard A9 fovam 3 e f&di &1 3fdem™@ 8 | YRa-&4

oh JTTIET T g9 €M shl ST shl ST & Ief @d @ |

(a) & b AT, i AT ATIATG! G2 Teh TR o &I H I T © 7

(b) WA 3 EH & Geell ol T8 Teiad 991 GHSAT A1 8 ? IS o HoT fafan |

(c) Toredl a1 IeTETull grI I8 STy foh WA 31K &9 o Gadi ol sfderd 9 favams
3R gr3t Tl 9 39T 2 |
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Read the passage given below carefully and answer the questions that follow :

India has maintained good relations with all the post-communist countries. But
the strongest relations are still those between Russia and India. India’s relations with
Russia are an important aspect of India’s foreign policy. Indo-Russian relations are
embedded 1n a history of trust and common interests and are matched by popular
perceptions.

(a) Other than Russia which communist country 1s emerging as a big power ?

(b) Why are the relations between India and Russia the strongest ? Give any two
reasons.

(c) Give any two examples of Indo-Russian relations to show the history of trust
and friendship.

18. TI=TcTREd ST hl LAHYEh TTGU R ==l TG J9H1 e I TeTRay - 1+2+2=5

<Y o [IRITA TR AR AAQATAT sl U -Yihd 981 o (08T § &l 98l 31

<[Ta 33T T&1 AT, Sicsh HAGIATS! hl Ueh FS! dIgIg TS 3T 379E TN <hl 2t 3R U™

A&l H I8 AT SAlehad ob 11T Y& hl shicd TSl AT | 39 ok doh AAlehadl 9% -1 ¢

T g S o1, TEIAIT I aAT Heik TR, STal oy 9t Rrfera o | 38 9893 W9 =

SgaL Q31 H WG shl AT &l THoT AT | UH H fergsdre | HIeHH I3&h HdTieehi

U 379 B3 3R Tg 3794 319 | ST SIRGH WL T 7 |

(a) ‘HTAHIHeh a9%h HATIYeh ol 91 AY & ?

(b) TEAAAl o YT, YA o dgcl 3TH 19 @i fohdl HTYR W ST AAT Alhds i
HaH Fe! [T hal Sl 8 7

(c) UUH/3H THGH <hl ThAT - Tohtl Teh WA H SAlhdl(Ash JTshaT hl TsTe[d fehT ?

Read the passage given below carefully and answer the questions that follow :

It was not-just size of the country and the electorate that made this election
unusual. The first general election was also the first big test of democracy 1n a poor
and 1lliterate country. Till then, the democracy had existed only in the prosperous
countries, mainly in Europe and North America, where nearly everyone was literate.
By that time, many countries in Europe had not given voting rights to all women. In
this context, India’s experiment with universal adult franchise appeared very bold and
risky.

(a) What does “universal adult franchise’ mean ?

(b) What made the first general election in India after independence unusual and
the biggest test of democracy ?

(c) How did the success of the first General Elections strengthen the democratic
process 1n India ?
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19. TI=fcIRgd adqwr =1 &I 9 Ufed 3R i ot 991 o 3¢ fiav | 1+2+2=5

HIUY 1 72 © 3eU e 1 ThR Feqqd § 3T 78 | 8@, S1.TH. % N YR

R U] T H T Gl | JTed HeT-ATUTHd FHUT o gct W 3 T ehl TR
OaT ° o1 @ | 39 3TH o G TR H T9d ®9 9 AT Sid ol HISEGT U1 H U9
TohaT | ... QR TSHITdh Gl T AU UL A i, B8 | 391 réi shl fedfd

TS hi-l 3R 379 hTAShHT o Y& H SIS BT i hl TS ¥ 3eq T bl FLehr A

1970 = TCHFsR H ATREHT W1 i h TH®IiE hl |

(a) TEIA: I HI T % HIOT hiUH Ul T g U1 88 7

(b) ST TLHN hi DI I FHISETG] TT H U hid o T4 $i ML gRT TohT T Theai
<l JATHT T JAThel 1T |

(¢) 1970 T ArhEHT W i o1 o1 OMH Hehedl ?

Read the passage given below carefully and answer the questions that follow :

The split in the Congress Party reduced Indira Gandhi Government to a
minority. Yet, her government continued in office with the 1ssue-based support of a
few other parties including the Communist Party of India and the DMK. During this
period, the government made conscious attempts to project 1ts socialist
credentials. ... In order to end her dependence on other political parties, strengthen
her party’s position 1n the Parliament and seek a popular mandate for her
programmes, Indira Gandhi’s government recommended the dissolution of the Lok
Sabha in December 1970.

(a) Which event was mainly responsible for the split in the Congress Party ?
(b) Assess any two efforts made by Indira Gandhi to project socialist credentials of
her government.

(c) What was the outcome of the Lok Sabha dissolution in December 1970 ?
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Wk Caglacartoons coin

S 1CT 1T 1A 1 Y aquﬁﬁqaﬁIﬁﬁcrﬁgduarﬁ%waﬁq: 1+2+2=5

(i) Teamarnm srda fopm &fes ATRYA 4 Fefa g ?
(ii) 38 Bl FHCT 1 3¢9 T AT 7 Ig fohd HHT e == AT ?
(iii) &+ sl aef (FHHH) T forg BT foiH~ <11 o AH1 T FAT Ha & ?

Study the carteon given above carefully and answer the following questions :

(1)  The given cartoon 1s related to which military operation ?

(1)  What was the objective behind this military operation ? How far was 1t justified ?

(111) What do the names of different countries written on the uniform of the soldier
signify ?

e : THTREd T3 shael giesTiad Tlemil o U S AT 20 F EAHAWa: 1 +2+2=5
20.1. TUMHAT ATSH-TT-AT8 Tohd SR | Haierd & ?
20.2. YR 3R IH o S TN o Toheal af &A1 ol 3eoid hiTaT |
20.3. = A AT TSATdeh a7 AT Tehladrd el 3 hH THT Tl ?

Note : The following questions are for the Visually-Impaired candidates only in lieu
of Q. No. 20 :
20.1  Mention the 1deology to which Premier Zhou Enla1 belonged.

20.2  State any two areas of contlict between China and India.

20.3  When and how did China end 1ts political and economic 1solation ?
8
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21.
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TN <61 T8 STHRR] <hl shH G

e 1d 378

{0y <l 4H

(1)
(11)
(iii)
(1v)
(V)
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(1) 1947 < IS o 99T 39 TS ol TTehed ™ TR WA b S TaHed TohaT 7T o7 |

(i) IEHRARI29TTTT 2 |

(i) IBTST 1966 H F=T AT T |

(iv) 39 TS I TgAT JEIHAT AT T |

(v) I8 TS g TSR ST | TafYd 8 |

In the given political outline map of India, five States have been marked as @,, ,

@, @ and @ Identify them on the basis of information given below and write

their correct names with their respective serial number of the mmformation used and
the related alphabet as per the following table :

Serial No. of the information used | Related Alphabet | Name of the State
(1)
(11)
(111)
(1v)
(V)

(1) This State was divided between Pakistan and India at the time of Partition 1n

1947.

(ii) This State is the 29" State of India.

(111) This State. was formed 1n 1966.

(iv) This State had Laldenga as its first Chief Minister.

(v) Thas State 1s related to Sardar Sarovar Dam.

A1E : MR 39T kool giReaTiad TR & ey T d@ 21 F A WaE:  5x1=5
21.1  9Rd % 29 o T o1 9/ ToTRaT |
21.2  UTih&IM o T34 o ol gfeetd i g Tehd THgTa o1 TiaTe TehdT T/=—IT 4T 7
213 1966 H HINR YR 9 g9TE U 2 TSAT hl A fIRgU |
21.4 TFAAAT & GHT YHA b IF © g GaI U /& 3TTH 1 YHT 81 o 7
21.5  3TTH! ATY Wil 9T o hd TT d HE4d o 7

Note : The following questions are for Visually-Impaired candidates only 1in lieu of
Q. No. 21 :
21.1  Name the 29" State of India.

21.2  Which theory was advocated by Muslim League for creation of Pakistan ?

21.3  Name the States formed 1n 1966 on the basis of language.
21.4  Which two North-eastern States/regions of India were not part of Assam
at the time of independence ?

21.5 Angami Zapu Phizo was related to which State of India ?
59/1 10
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22. Slieh ORUT o Tohegl B: NI 1 TIveivoT SHifT | 6x1=06
GO
Tg— gl shl AT oh &Y H e -HTUETdT shl YIHehT hT 3Tl <hifT |

Analyse any six consequences of Shock Therapy.
OR

Assess the role of non-alignment as a challenge to bipolarity.

23. YNd R UTih&d™ o sfa oY o Tohral IR el hl SATEAT hiloTT | Ax 1> =

Jan
U T 1 Teh THTE &1 TS ST aTel hehi ehl TgaTH a1 STEAT il |

Explain any four 1ssues of conflict between India and Pakistan.

OR
Identity and explain the factors that make the European Union a highly influential

regional organisation.

24, forea 4 fe@1 1 #ifd & o 1w, 39k fo=m o, H81 & F § T el Tg@qUi o 7
AT gfeeshivn ferlian | 3x2=6

GG
Gk Y S8 AT TSI ol AT AT [ A & 7 Toheal il SN bl TIgeiy ol

hITSTU |

In your opinion, which three steps ot co-operation are important to limit the violence

in the world ? Give your view point.
OR
Why do you consider international organisations like the UN important for the

world ? Analyse any three reasons.

59/1 11 [P.T.O.
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25. Torga W T Sl BT o TateR o @l fadi o1 9u shifsw | 6
37T
JvefteRtr & 9&T 1§, WeEnfirehl gr fafi= aiiesl @ feu v anrer 1 9uH HifSu |

Describe the common interests of the indigenous people spread throughout the world.

OR

Describe the ways 1n which technology has contributed to the cause of globalisation.

26. 1975 H WA H T T ATTAhIA oh ATHE H HIG U Teheal i U131 hl GV HIToTT |

I3Ix2=6
S]]

1969 H sh1IIY Ul H gU [G9TSH o Teheal 19 TSl 1 JUM <hITT |

Describe any three lessons learnt from the experience of emergency imposed 1n India
in 1975.

OR
Describe any three effects of the split in the Congress Party in 1969.

27. ST-HRHER H T b ToTu ITLErRM T G GuE1aT] sl Gequl hifaT | 34 THE1al

T e fed 39T TATST | 3x2=6
G

YA b TohETHT hl1 TH@ FHEATIAT ST G&I0] ShifelT | 370 | fheal di9 % THIYM & {o1

3T GAT3T | 3+3=6

Examine the three main problems responsible for the unrest in Jammu and Kashmuir.

Suggest measures to solve these problems.
OR

Examine the major problems of the farmers (Kisans) in India. Suggest measures to

solve any three of them.
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